4 - per1 Graphs of Quad Functions.notebook October 04, 2019

Monday Quiz 2 No Calc: Solve by factoring, compl. the square & quadratic formula (Days 1-3)
Tuesday Quiz 3 No Calc: Function Properties (Day 4)

HW Key: Group Work Factoring key is in previous day's slide.

Oct 4-9:15 AM

Transformation Reference Sheet

State the transformation from the original _N
Translations:
Original: y =

y=x2+3 ; y = (x—4)? Y y=(x+12-2

hrall Aok
5&’3 > “‘“}%’ﬁe{ and win 2.

Rule:ﬁ(x)t& vedtiaal shif+ (L( upt > %

3 (k20 , hpeitahel sligt c("é**)
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Vertical Stretch &M
Original: y=x2

y =23 Y"‘i:gr"‘ 'LI y = x? = ;li)(:. vahad

Rule: Q'FQ‘), VG%(P‘;:_'Q=5;'§*W6 b

‘S"L_ dachr ia

vett, Cmpuesii O 2« |

Nvin

Oct 6-10:24 AM

Reflections: )1/—\>
g(x) ‘—(H

Original: y = (x-4)2

y=-x47  Cy-asS = (x-4)2
‘e A T
-

Rule: —}(1) Cy-aniS
or(~%) (y_-dw's

2. fix)=x2togx)=2(x-1)2+3

9> verttar Shetch Fack iGN
— 13 Nt ShiGt (.‘,ﬂf’
43 Vot ol up S

Describe a sequence of transformations that will transform the graph of the function f

into the function g. 43 | skigt L%F‘E
1. f)=x2+4 tog(x)=(x+3)2+1 +12 VM“W%M'\S

Oct 6-10:25 AM
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As Transformations:

\Jartex

Teh—

Parent graph: y=x*

y=ax-h)*+k

a > vaheal steteh o R mpre $S01

+ —
h > hamtamtl. +anolaton ( fegt dfn‘?_/\é-)

—'— -
k > Vverheal tramn btpran (c,.p g hwn)

(h, k) > vetfex (o fuening P*'\
aos > axrs Jg s)liwv"‘é#;\ X= L\

minimum or maximum occurs at the vedey C+-'ﬁ->

a7 040“‘)

2/

Y hE)
¢
X=h

Y
if a >0 graph contains a __mynimumnm [opensv «“pP )

if a <0 graph contains a __Max:/» wmn [opensé l dowin )l

Oct 8-7:41 PM

Generdl Form:

y=ax*+bx+c,a#0 [j\j‘
—b !
aos = X = 2a (2'&(2))

vertex > (2 )C(L\B

Oct 8-7:42 PM
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?or each (?f tﬁ;zuatwn& below, ﬁncf the ﬁ/fow‘znj

= 2 & skotck = ™ Cal(

o aos k)

4. vertex 9‘\) e. range

c. state mzmzausndyr mdnzram f intervals where t zncreamnj & zlécrea.nnj

[remmral /)
falx) =x*+2x+6 J_ @

6D x="2 =1 x=-1 D
® (-1,4(-0) ® Z &353
%_(_\\ (-0 () 6 8/ ES c0) %
= )-2f=5 P intreaond.

) (~I,o°)
' =1 docreasmy.

@ 0’>O% U yv\jmrw\uwv\-sa'!‘x

(-20,—1)

Oct 8-7:42 PM

NP R VIE
glx) = (x~2)*+3

%K) alx-Rtk (£ irtnass

%(A/c) (2.3)
a>o_—) Vr@wﬂw 2ok X=X éwvédﬂ‘l‘:ft
@ - (20,2

-0 e =)

[ >
@ Fuly23T o [
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Ter each (?f‘ the eguation.f below, ﬁncf the fé/fow‘z’nj.‘

. sketch

a. aos

4. vertex e. range

¢. state maximum or mintmum f intervals where increasing & decreasing

foxtikie! @AT
(51

OISR

£eq) = (A0
L= 6 #3245 = s g1y t23 or (-0,211
Vo(/“-"'o>< : (ﬁ"{\:'\

(Y

(© ac<o ﬁf‘"\ AGKIAAAA ! @ [ne_:

et &27T 77 Joa (4 )

Oct 8-7:42 PM
flx) =-2(x+ 3)*-1
6. @ X =-5
+ (D) AL IR
© aco—» /'\ _2

Vi s = | ot K=

@‘ 771 \_’
T
@i_g_(gé-lfg o~ (~o0,~

(D inc (~00 ,~3)
Dec ("%, OO)

Oct 8-7:43 PM
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From Text pg 233: 51 é&%

A rancher needs to enclose two adjacent rectangular corrals,
one for cattle and one for sheep. If ariver forms one side of the
corral and 240 yards of fencing is available, what is the largest

total We enclosedze ﬁ
Encinue; SRS 418 1
X
20-=S \

X X +X ty = 2¢0 ;cx):X(QV0’3X) ——\
b= A &) FCO= 290x —3x*

~ 240
w; &t X = e = /0]
“g o~ (0= (290-3C70) é
fo = o (AP-12O)

= 90 ((20)

Oct 8-7:44 PM

Homeworl: pg 218: 31
g 231 - 232:
. 15:: 22 (0¥t Cralsformations fromy = x *)

-l._ fh?.miol 8ql qg . i

Oct 8-7:51 PM
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